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Question: 1

Choiose the correct order of these parts from the given alternatives.
{1) The African elephant is usually larger

{2} being about three and & half metresin height

(3} than the Indian

(4) and 6000 kg in weight

{5) It has enormous ears

(6) which are valued for the lvory

(7) and very long tusks

[B] that they contain

{A)5,6,2.4,1,3, 7.8

(8]1,5,4,7,3.8,7,6

(€)1,4,2,3,6587

{D}1,3,2,4,57,6, 8

Ans:D

1,3,2,4,5.7,6, B

Question: 2

Choose the correct order of these parts from the given alternatives.
(1) food supply

{2) storage, distribution and handling

(3) pastoral industry and fishing

(4) besides increasing

(5] by preventing wastage in

(6] thie productivity from agriculture

{7) can be increased

(8)1,7,5,2,4,3,6



(B4, 631,752

(C}6,3,57,4 1,2

(D)4 1,6,7,5,3,2

Ans: B

4,6,3,1,7,5 2

Question: 3

Choose the correct arder of these parts from the given alternatives.
{1} in some of the developed countries

(2] in the developing countries

(3) mostly in the form of beef, pork etc.

(4) about 180 kilograms

{5) per capita consumption is

(6] of grain per capita annually

(7] the people

(B} five times that amount

(3} consume only

(A)7,2,0.4. 61,58 3

{B}5,81,2,7,9,4,6,3

{C}1,7,9,4,6,2,5,8,53

{D}2,5,8.1,7 9.4 6 3

Ans A

7.9 4961, 5/8 8

Question- 4

Choose the correct arder of these parts from the given aiternatives.
{1) you can take
{2} you CanaE™t take

(3] the boy



(4] the village
{5} out of the village
(6) out of the boy

(71 but

(A11,3,57.2,4,6

(B}1,7,2.4,3,5.6

{€}1,5,2,6,3,7,48

(D}1,6,5,3,7.4,2

Ans: A

E3. 5 7546
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